2014-2015 First Examination S2 Paper 1A Reading
Marking Scheme

Passage 1 (11 marks)
C

A

Pressure from friends to fit in with their social group
B

fit in

unique

unpopular

fitness

. energy

10. Skydiving

11. D

R

Passage 2 (18 marks)
Section A (6 marks)
(1) seven // 7

(2) Difterent // Four
(3) collect

(4) fridges

(5) Tyres

(6) packaging

|Section B (1 mark)i
Circle ‘4’

fSection C (6 marks)]

1. Yes (1 mark), because we don’t recycle enough and the landfills will
be filled up soon (1 mark) + complete sentence (1 mark)

2. She felt upset (1 mark) because she saw a lot of paper plates, plastic
bags and aluminum cans on the ground (1 mark) + complete sentence

(1 mark)

** 0.5 mark deducted for each grammar mistake




Section D (5 marks, 1 mark @)
(1) landfills

(2) charity

(3) poor

(4) blanket

(5) reused

Passage 3 (9 marks)
o
A
D
the writer’s shirt
dirt, bed, chest
No, I don’t think so (1 mark) because the writer says ‘I’ll keep the bits
in a biscuit tin” in lines 15-16 (1 mark)
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